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6. The following data have been collected for a British health care IT project for two-week
reporting periods 2 through 12. Compute the SV, CV, SPI, and CPI for each period. Plot
the EV and the AC on the summary graph provided. Plot the SPI, CPI, and PCIB on the
index graph provided. (You may use your own graphs.) What is your assessment of the
project at the end of period 12?
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Status Report: Ending Period 2
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Status Report: Ending Period 4
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Status Report: Ending Period 6
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Status Report: Ending Period 8
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Status Report: Ending Period 10
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Status Report: Ending Period 12
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